MODEL  PRACTICAL EXAM QUESTION PAPER 2017-18

Botany

Higher Secondary First Year 

Model Question Paper

Time : 2:30  hrs





Marks :
15 marks
I. Identify the microscopic slides / specimens / models kept in [A], [B], [C]









3 x 2 = 6


(i) Diagram -------- 1/2



(ii) Labeling parts -------- 1/2



(iii) Give 2 reasons for Identification ---------- 1

    II.
Identify the Genetics Problem [D]




1 x 2 = 2



(i) Draw checker board -------- 1



(ii) Phenotypic ratio
-------- 1/2



(iii) Genotypic ratio
---------- 1/2

   III.
Identify the experimental setup kept in [E] 



1 x 3 = 3


(i) Aim 

-------- 1/2



(ii) Apparatus required
-------- 1/2



(iii) Procedure

--------- 1



(iv) Observation

---------- 1/2



(v) Inference

---------- 1/2


*** No need to draw diagram

   IV.
Identify the specimen kept in [F]




 1 x 2 = 2


(i) Draw the diagram
-------- 1/2



(ii) Parts 



-------- 1/2



(iii) Mode of reproduction
--------- 1

   V.
Identify the specimen kept in [G]




 1 x 2 = 2


(i) Diagram


-------- 1/2



(ii) Parts 



-------- 1/2



(iii) Write two Morphological




(or)



Anatomical Adaptations 
--------- 1

Key

I
A -
 A1- 
Structure of HIV


A2 –
Structure of Bacterium



A3 – 
Mucor – mycelium with sporangia



A4 – 
Spirogyra – structure 


A5 – 
Scalariform Conjugation of Spirogyra 



A6 -
Riccia habit



A7 -
Neprolepis – Prothallus



A8 - 
L.S of Cycas ovule


I
B -
 B1- 
Structure of Chloroplast 


B2 –
Structure of mitochondria 



B3 – 
mitosis metaphase 



B4 -
mitosis - Telophase
 I
C -
C1- 
Tap root system 


C2 –
Fibrous root system 



C3 -
Tap root modification

(i) Conical
(or)

(ii) Fusiform
(or)

(iii) Napiform


C4 -
Phyllode



C5 - 
Pitcher Plant



C6 -
Head Inflorescence
II
D -
D1- 
Monohybrid cross 



D2 –
Incomplete dominance



D3 - 
Dihybrid cross

III
E -
E1- 
Potato osmoscope Experiments 



E2 –
Transpiration pull Experiments 

IV
F -
F1- 
Bulb (Onion) 



F2 –
Bryopyllum 



F3 - 
Sugar Cane 

V
G -
G1- 
Eichhornia 



G2 –
Opuntia 

jhtuéaš

nkšãiy Kjyhkh©L – brŒKiw¤  nj®Î

neu« :

2 : 30 hrs





kÂ¥bg© : 15
I – [A], [B], [C] æš bfhL¡f¥g£LŸs E©nzh¡» °iyLfŸ / jhtu¥ gFÂ¥ bghU£fŸ / khÂçfŸ ahbjd f©l¿f.




3 x 2 = 6



(i) gl« tiujš
 ------- 1/2



(ii) ghf§fis F¿¤jš ------ 1/2



(iii) f©l¿ªjik¡fhd fhuz§fŸ Ïu©L ------- 1

II – kuÃaš MŒÎ (D) I¡ f©l¿f. 





1 x 2 = 2


(i) ò‹d£ rJu« 
 ------- 1



(ii) òw¤njh‰w é»j« 
------- 1/2



(iii) Édh¡f é»j« ----- 1/2

III – [E] æš it¡f¥g£LŸs nrhjidia f©l¿f.  


1 x 3 = 3



(i) neh¡f« 
 ------- 1/2



(ii) njitahd cgfuz§fŸ ------- 1/2



(iii) brŒKiw ----- 1/2



(iv) fh©gd ----- 1/2



(v) m¿td ----- 1/2



(gl« njitæšiy)

IV – [F] æš it¡f¥g£LŸs jhtu gFÂ¥ bghU£fis f©l¿f.   
1 x 2 = 2


(i) gl« tiujš
 ------- 1/2



(ii) ghf§fis F¿¤jš ------ 1/2



(iii) Ïd¥bgU¡f Kiw ------- 1



      (VnjD«  2 g©òfŸ)

IV – [G] š it¡f¥g£LŸs jhtu gFÂ¥ bghU£fis f©l¿f.   
1 x 2 = 2


(i) gl« tiujš
 ------- 1/2



(ii) ghf§fis F¿¤jš ------ 1/2



(iii) òw mik¥ò g©òfŸ Ïu©L (mšyJ) 



cŸsik¥ò g©òfŸ Ïu©L ------- 1

éil¡F¿¥òfŸ  : 
I
A -
A1- 
HIV – mik¥ò


A2 –
gh¡Oça bršè‹ mik¥ò




A3 – 
äôfh® - °nguhŠ»a¤Jl‹ Toa ikÁèa« 


A4 – 
°ignuhifu mik¥ò 



A5 – 
°ignuhifu Vâ ÏizÎ 



A6 – 
ç¡ìah tsçašò 



A7 – 
be¥nuh è¥Ãì‹ ònuhjhy° 



A8 – 
irf° Nè‹ ÚŸbt£L¤ njh‰w« 
I
B -
B1- 
gR§fâf¤Â‹ mik¥ò  


B2 –
ik£nlh fh©Oçahé‹ mik¥ò 


B3 – 
ik£lhÁ° - bk£lhng°



B4 – 
ik£lhÁ° - Onyhng° 

 I
C -
C1- 
Mânt®¤ bjhF¥ò 


C2 –
ršènt®¤ bjhF¥ò



C3 –
Mântç‹ kh‰WU¡fŸ (T«ò / fÂ® / g«gu tok«) 



C4 –
~ÃšnyhL



C5 –
FUit¤ jhtu« 



C6 –
ÁukŠrç 

II
D -
D1- 
xU g©ò fy¥ò 



D2- 
KGik bgwh X§F¤ j‹ik


D3-
ÏUg©ò fy¥ò 

III
E -
E1- 
cUis¡»H§F M°kh°nfh¥ MŒÎ



E2- 
KGika‰w X§F¤ jhtu«



D3-
Úuhé ngh¡»‹ ÏGéir MŒÎ 

IV
F -
F1- 
FäH« (bt§fha« ) 



F2- 
Ãiunah~Ãšy« 



F3-
fU«ò  

V
G -
G1- 
I¡fh®åah 



G2- 
x¥g‹Áah 

